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Answer

2435

any five : 5x3

() Two economies namely Economy A and Economy B

(i)

(iid)

()
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can produce both the goods X and Y. However

economy A is specialized in production of good X and
economy B is specialized in production of good Y Draw

and explain the production po@b’ ility curves for both
Q
Q
>
S
W

the economies.

Lalita consumes@@two commodity X and Y. The price |

of X has increased but it is observed that Lalita is

consuming the same amount of good X. Explain this |

condition using income effect and substitution effect.

Do you agree that price controls often hurts those for
whom these were meant to help ? Discuss this in view

of rent cqnn'ol.

D-;)es a firm operating under perfectly competitive market

always exit whenever it incurs losses in the short-nyy 7

V).

(vi)

2435

In a ci i

ity there is only one company providing
telecommunication service. The company is asked to set
Its price equal to its marginal cost, What problems will

the company face in doing .so ?

Does the doubling of wage rate cause demand for

labour to be half ? Discuss.

fedl wfa #1 s dfm .

()

(i)

am"ﬁ:&aﬂﬁxﬁlvm
S FOWHRA F1 wAH SR A awg
X ® ST ¥ 3w ¥ R sdwmaw B oog
Y % 3§ gh ¥ 3 sdoraeaet # o
TICT WHE qh AEC SR o st
ﬁmmﬂa@ixaﬁtvmmﬁnm
¥ T T T R oag x # ww # oafs
B WM W st afea g x w wed foe
HET H I9HM @ W W W R @ W
JfeqTOe g9 T S9EN HA T T ST

FT FqUA HifoQ |
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T @ TEEE oW ¢ e weR @ fae
7% fem W@ € 2 fRan freem ® wedd A
w;ﬁﬁﬁa‘ﬂﬁﬁm

T § wft @ feafy ¥ W F T gl

wwﬁﬁﬁ@%%vaﬁmw@
& w3 oTw FEhoW e am @
mmﬁaﬁﬁﬂmﬁmmm
T ?

TRl W W M W 3| W F AW A
nhamframﬁ?ﬁaamaam;
wﬁat i ihe:" Eole of government in a modem

' ' 5
economy ? :
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(i)

| (iii)

@

(i)

{ 5 ) 2435
The demand and supply of labour in a village is given
by :
Dy = 210 -3W and S, = 2W.

Calculate the minimum wage (W) fixed by the

"government which causes an unemployment of 40. 5

Due to iﬁcrease in income of residents of a city the
demand for car rises. What happens to producer surplus
in the market for car.? What happens to producer
surplus in_ the market for tyres ? Use diagrams to
explain. 5
TH Y rdsgeed H WEHR H o yfie
Bt T2

T& T # M & A IR R wed 39 YR
T |

D, = 210 - 3W T §;= 2W

wWER g frifa <A wegd W (W) T
Ty Rt oo F 40 FRF R A TR

¥

B
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( 6 ) 2435

Gy T TR F S T H A d

U

(if)

F g9F  HR &I AT TG I ¥ FR o
# SORH SfRE W F TG I8d@ &2 T
FER H SARE AfRe W T Y9G TS )
wqfaa fasil &1 W@ § saRu)

Should a bumper crop due to favourable weather

\Q
condition be a cause Q%\:oncem for  the -farmers ?

\Q‘Z}-
S 6

Government imposes ‘@ tax on sale of foods served in

Explain.

a restaurant. Can-the 'government ensure that the entire
burden of this tax will be borne by the restaurant

owner ? Discuss. 5

(#if)  Studies indicate that the price elasticity of demand for

milk in a particular village is —1.2. If a litre of milk
currently priced at Rs. 30 and the government wants
to increase milk consumptioﬁ by 20%, by how much

should it decrease the price of milk ? *

()

()

(i)

0)

(i)

« 7)) 2435

N ATHA UM F a9E ¥ T WP A
mﬁ%mﬁmwwmmmﬁq?
qaET |

T dEeE # wE TRd St fasl WOEER
T TEF H AMA W g M WER T

gfafyed & Tt & 6 38 & F AW R
GeEeE Ao W T 2 favesw i

S % UG a9 ¢ R wE M 3 g
& W EH A _12 ¥ g @ E
30 T0 wR iR ¥ R AR WER T S
%%grumsmﬂﬂzo%az-mﬁw
F§ fpat wH weH =MeC ?

Explain using ircome and substitution cffects, why Giffen

..goods have upward sloping demand curve ? 7

Use indifference curves to show how an individual

decides to allocate her time between work and leisure.

i te
Wwill she necessarily work more if the wage T1d

: 4
rises ? PTO.
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( 8 ) 235

(i) A consumer consumes two goods bread ang ric
e

@

(i)

(iii)

Measuring rice on Y-axis, the MRS of rice for breag

is 0.5 ai equilibrium. The market price of rice is Rs 20
(@) What is the market price of bread ?

(b) Derive the equation of budget line. 29

mqﬁwﬁwumwwm@w
ﬁ@ﬁﬂﬁ&ﬁﬁﬂﬁ@ﬂrﬂﬁwm

TCEAT T @ramm%qmaqﬁa

mﬁﬂéﬁrﬁ%mwmmm'
%7W@ﬂﬁ§%@ﬁmwaggﬁwl
A wE w2

TH IR S e T iR A w1 S
F@ R Y- W W@ # oo w1 gL
g F fefa § A & forn e @ S
Uﬁl@qﬂ?ﬂ?os%rﬁmaﬁﬁnﬁzo@
T Fifwe

(@) ﬁaaﬁwmw% ?

® I @ T e g R

@)

)

(iii)

0)

L 9 ) 2435
In the long run there are five alternative technologies

to produce a commodity. Explain the derivation of long

run ATC curve. 5

The long run supply curve of a perfectly competitive
industry is more elastic in the long run than the short

run. Do you agree ? Give reason to your answer. 4

A farmer is m equilibrium when he produce_s 100 kg
of potato. The total cost function is given as
C = 1000 + 10 Q + 0.05 Q2. The price of potato-is
Rs. 20 per kg in the market.

(@) Calculate MC and AVC, AFC and AC of the

producing potato at eqﬁilibrium level.

(b) Calculate total profits of the farmer. 42

‘A § Tw o H I 7 & A

ot fafire qedte Suos ¥ diees ot
AME a% B frEqu #1 viA S

P.T.O.
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(if)

(i)

(10 ) | 2435
@ g st sdm & e O
soqaela o ww @ ofuE deeR B {
s 9 W FA W W §? AW SW
g HRO FAET |
100 FRelvom® ST 1 FAA FA R T Fohw
e § AW R HE W e

Q
C =1000 + 10 Q + 01@@_

S
¥ IR o B H.2 20 yfa freinm
" $
|

(a) 3N SUCH . Gqed &1 feufa § W
W, S oRedRi o, s fer
WA 3R SiEq @R W@ il

®) foam =1 ®@ @w 3@ sifSw)

'Explain the dead weiéht loss due to monopoly with the

help of a diagram. Does perfect price discrimination by

a8 monopolist increase total welfare in the market ?

Explain, 4

(i)

(i)

¢ 11 ) 2435

A ‘monopolist produces a commodity X at a constant

average cost of Rs. 20 and faces the following

demand function :
X=200-5P

What is the cquilibﬁuﬁ output and price and profit

of this monopolist ? _ 322

To produce socially efficient quantity in monopoly, what

“should be done : per unit tax be levied or per unit

subsidy be given ? 4

T o9 &t SeEa ¥ TF THIUER & RO
Ak AfRE TH AU G T T
ﬁﬁmﬁﬂﬂm@‘i@ﬁﬁamm
%o sfRe § afg At & 2w SR

P.TO.
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(i)

(iii)

(1)

(if)

( 12 ) 2435

¢ 20 F ol @@, st fE R ?, W
e SR w @ SR e
% & TEA W T

=200 - 5P
wem # fefn # T RER SN IORS
. qE, FE@ AR 'EH‘L§S§§%FH' [

T § 1¢nqﬁ%ﬁ§3§3§ﬁ§1 IR TR W &N |

3 fou aen"aaeﬁsiaﬂ%nz e 3EE H AT
SR oWy TR e @ W@ 2

In a perfectly competitive markets, explain why the value

-of marginal product of labour curve is the demand curve

for labour. ) ' _ 5

According to new labour laws, firms are now required
to give workers health insurance. How this law will affect
employment and wages considering no éhange in labour

supply 7 | | 4

( 13 ) 2435

(iiijy Suppese labour is the only input used by a competitive

firm whose production function is as follows :

Units of labour Total Product
0 0
1 8
2 15
3 21
4 25
5 28
6 ) 8

(@) Each unit of output sells for ¥ 5, calculate the

value of marginal product of each worker.

(5) Compute the demand schedule showing the number

of workers hired for wages oft¥ 15, 20 and 30.

() What happens to this demand curve if the price

of output rises from ¥. 5 to ¥ 10 per unit. 6
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( 14 ) 2435

¢ T o yfeErt aeR A oweRy fFosm o
W TORA Yo 9% HH T AN S By
2l |

() TH T Fm @ ER oW WH # fau s

F WRA A [ NEYEF € T’ HAT W

ff sm #t I ow # *8 e T Ay
# el § w9 gk TR w

T OYWE T ? &&\\

iy w1 WB@% THEE 9iEe ¥ aﬁ-(
Wiﬂfmﬂ@ﬁaﬂwwﬁwm
R ST

T W WEA H_A IAQ
0 0
1 8
2 15
3 21
4 25
5 3
6 3
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¢ 15 ) 2435
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F dwF S qed T@ S |
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